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Correct Answer will carry 1 mark per Question.
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1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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X2 FEEe
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X4 gigeg

Question ID : 75189710415
Option 1 ID : 75189741659
Option 2 ID : 75189741658
Option 3 ID : 75189741660
Option 4 ID : 75189741657
Status : Answered
Chosen Option : 1
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Question ID : 75189710090
Option 1 ID : 75189740360

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189740358
75189740357
75189740359
Answered
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Q.3 Given that ¢ is the third propertional of 15 and b, If b is the sum of first three odd natural numbers, then the value of ¢
is:

Ans
x1 22

Question ID : 7518979235
Option 1 ID : 75189736937
Option 2 ID : 75189736940
Option 3 ID : 75189736939
Option 4 ID : 75189736938
Status : Answered
Chosen Option : 1

Q4 Srfra B &, AB, CD & TAWIS ¥l x° 1 F Faar gem?

A
C
A
65° o
E 35
B D/ P

Ans ¢ 30°
< 2.100°
v 3 80°
x4 110°

Question ID : 75189711215
Option 1 ID : 75189744857
Option 2 ID : 75189744858
Option 3 ID : 75189744860
Option 4 ID : 75189744859
Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda297

Google Play

O gy, ¥ FeTHE-Te W Eua ¥
AN x 1 maeret 3R My

X 2. THAT AR W
X3 FgEdr HY AFer
4 Helahelal HIT ST

Question ID : 7518977544
Option 1 ID : 75189730173
Option 2 ID : 75189730174
Option 3 ID : 75189730175
Option 4 ID : 75189730176
Status : Answered
Chosen Option : 2

Q6 37 g F Tua AET, F FERRT AT F veF RBEa (?) F T W) weh?

13, 14, 27, 41, 68, ?
Ans 1118

2 109

X3 85

x4 98

Question ID : 75189711065
Option 1 ID : 75189744258
Option 2 ID : 75189744259
Option 3 ID : 75189744257
Option 4 ID : 75189744260
Status : Answered
Chosen Option : 2

Q7 mEeEr % % ¥ A A &8 ¥ TEd T F 0 T ¥ W @ e o 22
Ans X 1. NasCOs

« 2. NaHCO4

X3 CaS0O,

X 4. CaCO4q

Question ID : 75189710358
Option 1 ID : 75189741430
Option 2 ID : 75189741432
Option 3 ID : 75189741429
Option 4 ID : 75189741431
Status : Answered
Chosen Option : 1
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ATl FgTeddT (perks) FIT FEAT 67
X 1. §Tgdr oy (Outlying benefits)
X 2. fgg wmeT (Trim benefits)

Ans

X 4 WrATT o8 (Marginal benefits)

v s HFue fEaemsT (Fringe benefits)

Q.8 Tt @ 39 FARE & Bl o e SR @ T R 3wy wfefea & I

Chosen Option :

Question ID : 75189710571
Option 1 ID : 75189742283
Option 2 ID : 75189742284
Option 3 ID : 75189742282
Option 4 ID : 75189742281
Status : Answered
Chosen Option : 4
Q.9 six friends Q. R, 5. T, Uand V are sitting in a row facing north. Q is seated 218 £ the right of T and 31 1o the left of 5.
U is not an immediate neighbour of Q. Who is seated between R and V?
Ans X' 1. T
&2 Q
X3 U
<4 S
Question ID : 7518979712
Option 1 ID : 75189738848
Option 2 ID : 75189738845
Option 3 ID : 75189738846
Option 4 ID : 75189738847
Status : Answered
Chosen Option : 2
Q.10 Normally. in a healthy adult, the initial filtrate in the kidneys is about 180 L daily. However, the volume actually
excreted is only:
Ans 3 1. 2 litres or 3 litres a day
« 2. 1 litre or 2 litres a day
X 3. 2 litres or 3.5 litres a day
X 4. 3 litres or 3.5 litres a day
Question ID : 75189710213
Option 1 ID : 75189740850
Option 2 ID : 75189740849
Option 3 ID : 75189740852
Option 4 ID : 75189740851
Status : Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518977949
75189731795
75189731794
75189731796
75189731793
Answered

1

Q.12

Ans

o & O i O B9 @9 997 27

3 g 16 29

7 14721742

<1

-hlt\-‘l
ra D

o 1w

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518979926
75189739704
75189739701
75189739702
75189739703
Answered

4
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Q.13 In the modern periodic table, addition of new shells down the group results in

Ans X 1. increase in atomic size and decrease in nuclear charge

X 2. decrease in atomic size and increase in nuclear charge
+ 3. Increase in atomic size and nuclear charge

X 4. decrease in atomic size and nuclear charge

Question ID : 75189711936
Option 11D : 75189747743
Option 2 ID : 75189747744
Option 3 ID : 75189747741
Option 4 ID : 75189747742
Status : Answered
Chosen Option : 1
Q14 A 3R B Fr Fo aom= g, B HT C A o Tow= A F 12 79 HOUF FI CH g, AT A F
e a% w7 B2
Ans x 1. 10
X2 6
<38
412
Question ID : 75189710701
Option 11D : 75189742803
Option 2 ID : 75189742801
Option 3 ID : 75189742802
Option 4 ID : 75189742804
Status : Answered
Chosen Option : 4
Q15 o5 gFEER 3T A H FT Hod W a9 H g7 B §, okl 9 orF 1 kg F A€ FH IHHT
FIAT & IHST IIEAeF I 900 gm ¥ gfeeE wmer w7 i
Ans . 1
x1.14=%
3
lg
<211=%
9
X3 9%
) 1g
x4 22-2%
2
Question ID : 75189710662
Option 1 ID : 75189742646
Option 2 ID : 75189742647
Option 3 ID : 75189742648
Option 4 ID : 75189742645
Status : Answered
Chosen Option : 2
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Ans

Q16 Carbon exhibits catenation property due to

« 1. its small size and greater strength of carbon-carbon bond
X 2. its large size and greater strength of carbon-carbon bond
X 3. its large size and weaker strength of carbon-carbon bond

X 4. its small size and weaker strength of carbon-carbon bond

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189711848
75189747390
75189747389
75189747392
75189747391
Answered

1

Q17 =3 & g ¥ F S v $ sremerar & Tee sEeT £ Trer #r o o, v s arer &
ﬁaa'ﬁtrtﬁamzﬁtgwmramgsnm

Ans 11947
2. 1950
X3 1949
X< 41948
Question ID : 75189710466
Option 1 ID : 75189741861
Option 2 ID : 75189741864
Option 31D : 75189741863
Option 4 ID : 75189741862
Status : Answered
Chosen Option : 2
Q.18

The given reaction is an example of

AL+ F3203 9 A.IEO?, + 2Fe
Ans X' 1. reduction reaction

X 2. double displacement reaction

< 3. pxidation reaction

« 4. displacement reaction

Question ID : 75189711874
Option 1 ID : 75189747494

Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

75189747496
75189747493
75189747495
Answered

4
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Q.19 . :
ATy AfeY hw U= # Rya g7
Ans
v HET 9T
X2 el
X 3 [T
X4 FATeH
Question ID : 7518977207
Option 11D : 75189728828
Option 2 ID : 75189728825
Option 3 ID : 75189728827
Option 4 ID : 75189728826
Status : Answered
Chosen Option : 4
Q.20 v wuw 3 3EF @€ & yron | 3 1 & T mqaﬁmﬁfr?rém#mmguug
T & T & e anomat # @ FHia & arone e # A
HUA:
T &I ATE B 5 g ZeaHl A o b, S 3 [AUE0T AT e gt & A g
YROMT:
|. &7 & SaH B TS e &g Wiee FEa, T TAEE0T A9 aEgH H THT S g 9gEd
T T AT T F T
II. @t S ateel, S-geremor AT smRce % @y W e e
Ans -
X o g aror | 3 7 & Il BT 2
2 Faer oo | BT B
X3 Faer grom || BT 2
X4 urome | 3R 1 g BT g
Question ID : 75189711698
Option 1 ID : 75189746791
Option 2 ID : 75189746789
Option 3 ID : 75189746790
Option 4 ID : 75189746792
Status : Answered
Chosen Option : 2
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&F 7 U7 93 FRar amm am)

Ans X 1. drAmREET (pomo culture)
X 2. P (agriculture)
v 5 gAad (silviculture)

X 4. YarH-HIe 9re (sericulture)

Q21 1,272 ter # o g g wEd W & T & T F Aqg % vas A, AT H %

Chosen Option :

Question ID : 75189710295
Option 11D : 75189741177
Option 2 ID : 75189741179
Option 3 ID : 75189741178
Option 4 ID : 75189741180
Status : Answered
Chosen Option : 3
Q.22 The element ‘X" has seven electrons in outermost shell. Select the group of the modern periodic table to which it
belongs.
Ans .
X1 7t group
X 2. 18% group
X 3. 16t group
4 17h group
Question ID : 75189711914
Option 1 ID : 75189747654
Option 2 ID : 75189747653
Option 3 ID : 75189747655
Option 4 ID : 75189747656
Status : Answered
Chosen Option : 4
Q23 A sybstance is said to be reduced in a redox reaction if it:
Ans X 1. loses hydrogen and oxygen both
X 2. gains hydrogen and oxygen both
+ 3. gains hydrogen or loses oxygen
X 4. gains oxygen or loses hydrogen
Question ID : 75189711888
Option 1 ID : 75189747552
Option 2 ID : 75189747551
Option 3 ID : 75189747550
Option 4 ID : 75189747549
Status : Answered
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24 . . .
? The surface area (in cmz) of a sphere of radius 14 cm is:

22
Take =?

Ans X' 1. 616
2. 2464
X'3.1232
X 4. 1848

Question ID : 75189710023
Option 1 ID : 75189740092
Option 2 ID : 75189740089
Option 3 ID : 75189740091
Option 4 ID : 75189740090
Status : Answered
Chosen Option : 2

Q.25 Zr qiz7 A 3K B ve o F1 wEw: 21 e 3t 28 Bee & o wwa ¥ oWl 9w ve gy @rer o
g 4 T Teane W3 B @1 a7 U G Tl SR e A o ThaeT AT Rem?

Ans X112 e
X2 15 fiae
X313 fi=e
v 18 fase

Question ID : 75189711200
Option 1 ID : 75189744797
Option 2 ID : 75189744800
Option 3 ID : 75189744798
Option 4 ID : 75189744799
Status : Answered
Chosen Option : 4

Q.26 The magnification produced by a concave mirror is found to be -2 when an object of height | cm is placed at a suitable
distance from the pole. Here, image height is equal to:

Ans  X'1. 3cm
¥ 2 2cm
X3 02cm
<4 1cm

Question ID : 75189711149
Option 1 ID : 75189744595
Option 2 ID : 75189744593
Option 3 ID : 75189744596
Option 4 ID : 75189744594
Status : Answered
Chosen Option : 1
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Q.27 Gr=fafEm e & somaa A, At 386 HUR 9T I8 7T S # soer Afere) & o wel Fwme
23T = §
335693 %2821 @ /84943956519 # 81
TS A # @ Y F 144 9E % @ MR 74 9% F gem?
Ans 194
x2 @
X3 84
X 4. 21
Question ID : 7518979001
Option 1 ID : 75189736003
Option 2 ID : 75189736001
Option 3 ID : 75189736002
Option 4 ID : 75189736004
Status : Answered
Chosen Option : 3
Q.28 v Fwefreg fee 1 SRET 32 cm ¥ IR FA g F F IGF g1 AU F 4 om T, A
Bgsr & g=meit @ sEEar (em A) A9 S
Ans X114, 10, 10
2.8, 12, 12
X3 14, 14, 4
<416, 12, 12
Question ID : 75189710695
Option 1 ID : 75189742779
Option 2 ID : 75189742778
Option 3 ID : 75189742780
Option 4 ID : 75189742777
Status : Answered
Chosen Option : 2
Q.29 For green plant tissues undergoing photosynthesis, is a waste product.
Ans .z 1 OXygen
# 2. carbon dioxide
# 3. ammonia
X 4. urea
Question ID : 75189710071
Option 1 ID : 75189740282
Option 2 ID : 75189740281
Option 3 ID : 75189740284
Option 4 ID : 75189740283
Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaic47 Eooale Play

Q.30 v Frger 130,875 F 9N W, TF gEEER H 5% Fr @fer @ 1 7% oot 9 s & e, 59

0 fFE 7w 9T e =fge?
Ans 1 334,775
X< 2 736,105
X3 35,525
x4 333,985
Question ID : 75189711193
Option 1 ID : 75189744770
Option 2 ID : 75189744771
Option 3 ID : 75189744769
Option 4 ID : 75189744772
Status : Answered
Chosen Option : 1
Q.31 = &, $r e THET T F HEHST FT THT BT 8, SEE 3 g @ ¢ dk w% R

T SRR ST @ §, T A @7 SERE el S §

X 1. ST T EIT W IHIET TR
X2 Foms W fAde & I TF

X 5. SIS W YTHTT W RS & AT I

Ans

v 4 S @ AT ¥ fiaer & Ao a %

Question ID : 7518978901
Option 1 ID : 75189735601
Option 2 ID : 75189735602
Option 3 ID : 75189735603
Option 4 ID : 75189735604
Status : Answered
Chosen Option : 4
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Q32 Ry 7w FEt AR Frwt @ camEE 9wl FuA & & 78 FTEwd A A g e fifw,
5ol £ 9F WA ¥9 ¥ AT T ¥ e g g &, sk g e iR R e st @ w e
T Ty FyEt w1 afte 79§ TaT w1 §

T

Tehr S, o ¥
o 9, o £

Fo 9, 3%
o

() Fo 3=, T 8
) 3o o, 3 &

AN X e TrSwY || 9T 1T B
X2 Fael fashs | 9T AT &
X3 sy | AT || St 9o e §
vigarTsmEy | 3R F AN 9T T g

Question ID : 75189710994
Option 1 ID : 75189743974
Option 2 ID : 75189743973
Option 3 ID : 75189743976
Option 4 ID : 75189743975
Status : Answered
Chosen Option : 3

Q.33 ux Ty F 91¢ & Ty RBe v §| 590 & w9 @1 ey T 0T sua F ¥R W g7 87
FUA:
R<S=T=<U=V>W>X
s
.LS=V
.V >Ss

A v or & e | oAt Il 3T
X 2 Faer fasey | @7 B
X Ty | 3R 1 =T '@ E
X 4 Faer fasey || e B

Question ID : 75189711491
Option 1 ID : 75189745964
Option 2 ID : 75189745961
Option 3 ID : 75189745963
Option 4 ID : 75189745962
Status : Answered
Chosen Option : 3
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Q.34 An electric bulb of 40 1 resistance and a conduetor of 10 {) resistance are connected to a 10 V battery. The total tesistance
of the circuit is:
Ans 1500
X2 60Q
X3 400
K4 30Q
Question ID : 75189711332
Option 1 ID : 75189745327
Option 2 ID : 75189745328
Option 3 ID : 75189745326
Option 4 ID : 75189745325
Status : Answered
Chosen Option : 1
Q.35 In this question, a group of numbers/symbols is coded using letters as per the table given below and the conditions
which follow. The comrect combination of codes following the conditions is your answer.
Momber/( 6| 8 | 4 | + |5 # |%| 2 |S(L|»7|9|*|@
Symbo]
Code |[S|U|T|W|N| P |V|D|A|Z|JM|O|M|Y
Conditions;
(i) If the first and last elements are numbers, then the last element will be replaced by the symbol @.
(11) If the first element is a symbol, then the first element will be coded as 2.
(i) If both the first and second elements are numbers. then the third element will be coded as *.
What will be the code for the following?
T84 %@
Ans 1 MU* VY
X2 WYETUM
X3 UM*=VY
X4 UNMVY*
Question ID : 75189711570
Option 1 ID : 75189746277
Option 2 ID : 75189746278
Option 3 ID : 75189746279
Option 4 ID : 75189746280
Status : Answered
Chosen Option : 1
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Q36 G & ¥ fFw 7= gus 7 ‘FO- aR=F(Bamo-Porichoy) ##e J¥a® e ofr?
Ans . hd
21 A ehlATH EI||E|.=_}|é
X 2w A
X 3 gEgaTy AR
v 4 g dg Taegmar
Question ID : 75189710537
Option 11D : 75189742148
Option 2 ID : 75189742147
Option 3 ID : 75189742145
Option 4 ID : 75189742146
Status : Answered
Chosen Option : 2
Q.37
3cdel 90T HT HET Blehd g grar gl
Ans
v 1 guuT % 9
X2 AEF HeT F FR
X 3. gquT & HHES
X4 AT HET & A
Question ID : 7518979481
Option 1 ID : 75189737922
Option 2 ID : 75189737923
Option 3 ID : 75189737921
Option 4 ID : 75189737924
Status : Answered
Chosen Option : 1
Q.38 & RS WS Tsd # UF 359 TOdW &4 §, S Feel 91T & agie-aiia g # S g
Ane XSSl e
x2 forg =
¥ 5 QgareT
X4 fraehr T
Question ID : 75189710479
Option 1 ID : 75189741913
Option 2 ID : 75189741916
Option 3 ID : 75189741914
Option 4 ID : 75189741915
Status : Answered
Chosen Option : 1
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Q.39

Ans

v T & feel Y &% 25.00 9y g ¥ 100 A ¥ 9@ # Q@ 7w F sfaRka 10 @ o
F @I (2 ) Fraar gem?

v 1. 150
X2 250
x< 3. 200
x4 300

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

75189711363
75189745451
75189745449
75189745450
75189745452
Answered

1

Q.40

Ans

ar Fsfoat A 3t B o7 RaEm #11 F5 A & & (tums) F FE F3 B F g # #0F ¥, 5=
FElT ¥ W T gEl ¥ $O g0 W @ T g1 §Een A TH Sed 3N e feaw @ wafea € o geer
B we deadider & @S §1 TRy # 3a @ 31F F W, FEe A F gl Th DC 9T SaTgd
g &, @ Teor B & waiew deadiddier # R @ W FEer B & s (core) W
SUEe (winding) EERT FEET ST T ¥

v TF dlg #T B
X2 UF TAFST HT TS
X3 UFk FHT T B3

X 4 TFH TEAASE F TS

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

75189711372
75189745485
75189745488
75189745486
75189745487
Answered

1

Q.41

Ans

[(12x4)x{6+4x(?6;4)}] F AT AT FifFT

1. 36
X2 42
X3 48
x4 24

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

7518979899
75189739594
75189739595
75189739596
75189739593
Answered

1
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Q.42

T g9, gEw e e s &
X1 =T FT TFET 8T

v 2 yreg e wmeEr

X3 R fAeTee s

X 4 QIEYr TAAT AMH

Ans

Question ID : 7518977572
Option 1 ID : 75189730288
Option 2 ID : 75189730287
Option 3 ID : 75189730286
Option 4 ID : 75189730285
Status : Answered
Chosen Option : 2
Q43 afy e wAROT 3 - 9x+8 -0 Fa o, f § A (S+8)+4(2+1) 7oA PR # ¥
T gem?
Ans 1 5.875
<2 4825
X3 7.225
<4 6.125
Question ID : 75189711211
Option 1 ID : 75189744842
Option 2 ID : 75189744844
Option 3 ID : 75189744843
Option 4 ID : 75189744841
Status : Answered
Chosen Option : 1
Q44 33 wg F1 70 Few, S & o Eer F vaT FEa (7) F TR W A Uer # oARE 59§ O
FET?
AMB3, DPE5, GSH7, 7, MYN11
Ans X 1. KVL9
<2 JWVK12
23 KYL12
« 4 JVK9
Question ID : 75189711016
Option 1 ID : 75189744063
Option 2 ID : 75189744064
Option 3 ID : 75189744061
Option 4 ID : 75189744062
Status : Answered
Chosen Option : 4
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Q.45 Refer to the following letter, number and symbol series and answer the question.
(Lef) V25 U@FWE#2QARQ I @FB46#HT%ZE (Right)
If all the consonants are dropped from the series, what will be the position of ‘@ from the left?
Ans X 1. Tenth
X 2. Seventh
X 3. Eighth
+ 4 Ninth
Question ID : 75189710845
Option 1 ID : 75189743380
Option 2 ID : 75189743378
Option 3 ID : 75189743377
Option 4 ID : 75189743379
Status : Answered
Chosen Option : 3
Q.46 Differant-coloured dusthing are provided by some municipalities in some eities and towns. The blue one is used for
collecting
Ans X 1. medical wastes
X 2. kitchen wastes
+ 3 reusable wastes
X 4. agricultural wastes
Question ID : 7518974471
Option 1 ID : 75189717882
Option 2 ID : 75189717881
Option 3 ID : 75189717883
Option 4 ID : 75189717884
Status : Answered
Chosen Option : 3
Q.47 3w TaweT w1 wO Hiiew, S o FEw F 79 F9 & S gud Fe & qger wew ¥ ol
Sty T w1 Sl T @ R
(e FfFa FEarst F 5k Guew HH F s frr Ren, T wEanst w $r S ke
SO - 13 O T AT A WERAN, S - ASAT / T / O FIA eartg 13 W E A
=gwl 13 & 1 3% 3 # fawwa &, A BT 1 it 3 W afoche sfsae &= #r segafa 781 8)
3:16:5:36:7:7
Ans o 1 6 4
<2 83
<3 B2
X 4. B5
Question ID : 75189711614
Option 1 ID : 75189746455
Option 2 ID : 75189746454
Option 3 ID : 75189746453
Option 4 ID : 75189746456
Status : Answered
Chosen Option : 1
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Q.48 &g m=e Fr e fdw ey o & Riv aiids facdo Rawor (AFS) & w9 & o 7= J6r 8, 78
AT dRae % R aeese # R m E?

A X HeeRE 38
X2 FTeSE 31-C
X3 FeJeoE 134
4 3-1?;!.*-_5}3' 112

Question ID : 7518974041
Option 1 ID : 75189716162
Option 2 ID : 75189716161
Option 3 ID : 75189716164
Option 4 ID : 75189716163
Status : Answered
Chosen Option : 1

Q.49 ., Fo FETET ¥ T E FAT §, AT I AT 4 km F gl TT F & a1, 9 a0 qgar
¥ 3T 3 km #r g 7T WA ) R =7 A0 g E 3R 9 km B EF o ¥ o 97 e A
75T g, AR 3 km F gl TT F & g T AT g1 3HF T & [9g N IHF HEAET & g B
e g Rrae 87 (®ef A FEer 90 B A Ais §)

Ans o1 5 km
X2 6 km
<3 8 km

X4 7 km

Question ID : 75189711584
Option 1 ID : 75189746336
Option 2 ID : 75189746335
Option 3 ID : 75189746333
Option 4 ID : 75189746334
Status : Answered
Chosen Option : 1

% o WE AU F MR W IS T TR H Seal AT

(FT) 146278375689 1395 3 (M)
3T TEIT A # T Avw gEmmat F aetwe J@g fifaw)

Ans 1. 53
X2 K8
<3 57
x4 Bb

Question ID : 75189711541

Option 1 ID : 75189746161

Option 2 ID : 75189746164

Option 3 ID : 75189746163

Option 4 ID : 75189746162

Status : Answered
Chosen Option : 1
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FEET ¥ fooes & T AT mw e
Ans X 1.

5 2.

3.

x 4.

Q51 B=ffe § ¥ #iF & aET o F 555 aveaT €, S e & Fatet & gua o &

e ﬁ'ﬁ—ﬁT Fe TBTEH (Cattle Tracking Collar System)
ofama T vz RfseT ATeA (Animal Tracking and Vigilant System)
THE =3 ¥ fATed (Smart Event Tracking System)

sf3ae o e ¥ (Indian Railway Tracking System)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
: Answered
Chosen Option :

Status

7518974138

75189716552
75189716550
75189716549
75189716551

1

Q52 The value of the discriminant of the quadratic equation 2x* —4 x —3 =0 is:

SASATS EFHT FATIT ST &

¢ | FTUTT=IST 9T
X2 ;e geor
X3 T

X4 qfPaH 9T

Ans

Ans @140
X2 24
<316
X4 36
Question ID : 75189710012
Option 1 ID : 75189740045
Option 2 ID : 75189740047
Option 3 ID : 75189740046
Option 4 ID : 75189740048
Status : Answered
Chosen Option : 1
Q.53 &1 3cH= (Dree Festival), T Fgcao! F& 30a4 &, = AEO T H __ T=d H 94 (Apatani)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518978849
75189735394
75189735396
75189735393
75189735395
Answered

1
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Q.54 7o st @ Aew 38 3k mftwsT 46 ¥ w@WRE T (empirical relation) w1 3T F g,
HFST FT Sgerh A FrfaT)
Ans > 1. 63
2 62
X3 64
< 4. B
Question ID : 7518979975
Option 1 ID : 75189739898
Option 2 ID : 75189739897
Option 3 ID : 75189739899
Option 4 ID : 75189739900
Status : Answered
Chosen Option : 2
Q.55 Ashutosh plotted Voltage against Current for two Ohmic conductors and found that the slopes of these two conductors
are 10 and 30, respectively, If the same 20 V battery is connected across these two Ohmic wires separately, what will be
the ratio of the current flow in these two wires?
Ans X 1.5:3
X2 5:4
X3 5:2
w4 5:1
Question ID : 75189711325
Option 1 ID : 75189745298
Option 2 ID : 75189745297
Option 3 ID : 75189745299
Option 4 ID : 75189745300
Status : Answered
Chosen Option : 4
Q.56 : :
Ty =gt & 39er Ot AT S 22
Ans - N
X TFIET F FH S F o
X2 oprae ¥ A9 9+ &F v
v 3 IsfaTT ® 9 F orw
X 4. STETO] @ gl STel HHAUT T UFUTH Fla & T
Question ID : 7518977840
Option 1 ID : 75189731358
Option 2 ID : 75189731357
Option 3 ID : 75189731360
Option 4 ID : 75189731359
Status : Answered
Chosen Option : 3
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Q.57 v Fo 3 A TN & A e & @ 1 30 5 % s & Fenew wer f AR www
ot i g 7 REd & 7 39T 280,000 B, & FU F For oy wa R
Ans  x'1.31,40,000
X 2. 71,60,000
v 3 71,80,000
X 4.%1,20,000
Question ID : 7518979929
Option 1 ID : 75189739715
Option 2 ID : 75189739714
Option 3 ID : 75189739713
Option 4 ID : 75189739716
Status : Answered
Chosen Option : 3
Q.58 a5 wEfRaT - A, B, C, D, E, F, G 3t H & Ic0oR 897 & " 891 & &7 &7 3iW 7@ & 397 §
el s M ata sl D A BF TE M F R & ¥ F, C F o€ 3w &
TFTATI D, TR FATNEFSF T S A 3T 1 H, B oF S avrd F a1 88r 1 A 3k D
F I & Faw o= W= &5 &
o # O ST @ Tt D F 8 werer 7 &5 €7
Ans &1 H ﬁ G
X2F iR B
X AMHRE
X4+ E 3R B
Question ID : 75189711421
Option 1 ID : 75189745683
Option 2 ID : 75189745681
Option 3 ID : 75189745682
Option 4 ID : 75189745684
Status : Answered
Chosen Option : 1
Q.59 ¢ a *
f=fafea #& & #ia & der, 18 & quia: Rerew 82
Ans X 1. 792462
X2 842104
v 3. 239076
x4 317468
Question ID : 75189711394
Option 1 ID : 75189745576
Option 2 ID : 75189745575
Option 3 ID : 75189745573
Option 4 ID : 75189745574
Status : Answered

Chosen Option : 3
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Ans

Q60 5 7 11 13

6’ 8’1216

X1 =
X2 =

3
&3 =

H ¥ oY oK 3T g9 927 e & 919 39T A9 ST

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
1

Chosen Option

7518979927
75189739706
75189739705
75189739708
75189739707
Answered

Ans

Q.61 GRADIENT efeg # Teiies Ta¥ @ 3Eh S0lgrat & 5% 3eTor 38R & sgor far =ren &, 3 e oo

& 3ESH FUTgEA & 5T e e & dge REr o ¥ 36 R a9 e F wE A T A d el

T HeW & I HTT?

X1 B
X2 M
3 F
X4 ]

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 75189711688
: 75189746749
: 75189746752
: 75189746751
: 75189746750
: Answered

Chosen Option :

3
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Q.62 A factory built in the shape of a cuboid except for its roof had its dimensions given as 140 m = 10 m * 10 m. The
structure is then closed on the top with a semi-cylindrical structure to exactly cover the open top of the cuboidal

structure. The volume (in m?) of the semi-cylindrical structure forming the roof is:

22
Takem =—
7

Ans 1. 5500
# 2. 13000
3. 6500
X 4. 11000

Question ID : 75189710026
Option 1 ID : 75189740102
Option 2 ID : 75189740104
Option 3 ID : 75189740101
Option 4 ID : 75189740103
Status : Answered
Chosen Option : 1

Q.63 Which of the following Indian languages is NOT categorised as a classical language by the Ministry of Culture,
Government of India?

Ans X 1. Telugu
+ 2. Bengali

X 3. Sanskrit
& 4. Tamil

Question ID : 7518979383
Option 1 ID : 75189737529
Option 2 ID : 75189737532
Option 3 ID : 75189737531
Option 4 ID : 75189737530
Status : Answered
Chosen Option : 1

Q64 When light is passed through a prism, refraction of light occurs:

Ans X 1. pne time

« 2. two times
/< 3. zero times
X 4. three times

Question ID : 7518979524
Option 11D : 75189738093
Option 2 ID : 75189738094

Option 31D :

Option 4 ID

75189738095

: 75189738096
Status :
Chosen Option :

Answered
2
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Q.65

FeATTRa 1% BT o1v 96) & S v FuAr gE HES o @ i 1 aw # Hemwe e, s
3T HUR T TF T 9T H 3o A

B0

70
B0
50

40

—+—Profit
30 (In 2 Crore)
20

1o

Profit Earned (I # Crore)

2000 2001 2002 2003 2004 2005 2006 2007

Years —»

[deaf - Profit Eamed (In 2 Crore) - ®& @me (2 ®i0s &), Years - 79
fooe 9 & geen A, a¥ 2002 F F9T IR e WF F gF gfe e S

Ans -
X 1. 240 FUS
v 2 330 FT
X3 350 F=
X4 320 FUS
Question ID : 75189711652
Option 1 ID : 75189746607
Option 2 ID : 75189746606
Option 3 ID : 75189746608
Option 4 ID : 75189746605
Status : Answered
Chosen Option : 2
Q.66 ¢
AT & FTHINT H FieT | 37 541 872
Ans K’ 1. a ﬁ
X 2. CH,COOH
X 3. H,S0,
« 4 HCI
Question ID : 7518979643
Option 1 ID : 75189738572
Option 2 ID : 75189738570
Option 3 ID : 75189738571
Option 4 ID : 75189738569
Status : Answered
Chosen Option : 4
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Q87 Grofafae # o Rower Fstam 77 2022 &, OO 7 200 e W F FEAT F 20.52 s

# W 9 FF, 2018 F 9% RIS H TF AT & I AgFAG HAE AGAT G@RT A1
T 20.63 Uws ¥ Mo AT e = 9% o T

At o1 e AR
x 2. ﬁiﬁﬁg‘
X3 e Aaad
X 4. HAT FAR AfF

Question ID : 7518976507
Option 1 ID : 75189726026
Option 2 ID : 75189726028
Option 3 ID : 75189726025
Option 4 ID : 75189726027
Status : Answered
Chosen Option : 1
Q68 =z FEmr F7 TUw AT, I & wE Sof F gex BEw () F TAT OF AU
0, 3, 8 15, 24, 35, 7
Ans x 1. 20
X2 B3
X3 37
4 48
Question ID : 75189711601
Option 1 ID : 75189746401
Option 2 ID : 75189746402
Option 3 ID : 75189746404
Option 4 ID : 75189746403
Status : Answered
Chosen Option : 4
Q.69 The refractive indices of dense flint glass and water are 1.65 and 1.33, respectively. A ray of light passes flom dense
flint glass to water, The refractive index of water with respect to dense flint glass is and the ray bends the
normal in water.
Ans X 1. 1.24, away from
+ 2. 0.81, away from
X 3. 0.81, towards
X 4. 1.24 towards
Question ID : 7518976622
Option 1 ID : 75189726488
Option 2 ID : 75189726487
Option 3 ID : 75189726485
Option 4 ID : 75189726486
Status : Answered
Chosen Option : 1
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T 0.5 F L ¥ w9 # Rk, =@ p 3 g i F 3w g = 0 ¥

Ans 64
& 1. —
o9
. &7
K2, —
a5
. 9
~ 3 —
11
. 7
x4 =
9
Question ID : 75189711390
Option 1 ID : 75189745558
Option 2 ID : 75189745559
Option 3 ID : 75189745557
Option 4 ID : 75189745560
Status : Answered
Chosen Option : 1
Q.71 o #ftwer fag@md - J, K, L, M, N 3T O = 2014 3fiv 2019 & &= v sfaftsq afyers dru= &
MBBS TR 93 BhaT| 303 o Seih o T elT-37e0T a9 H &ae a1l J & N & &=a® g o
ek Tgel T 99 F T@aw Sl K #R O F 9 Fae v atwd Remndt F s R ss K a
O & ger T+ a1 O & 2019 & = &Fam afe M & 2014 & =g am, & 2016 # fresr
=aw &
Ans x 1. K
v 2 N
X3 J
x4 L
Question ID : 75189710759
Option 1 ID : 75189743033
Option 2 ID : 75189743034
Option 3 ID : 75189743036
Option 4 ID : 75189743035
Status : Answered
Chosen Option : 1
Q.72 o= fagear 3 Fo F 20% T GT W A9aT § A gode avg @ AT How, w9 259 & 30%
Hioe faeifa #ar &1 J% avg W 3EeT Sfaed s Fd e
Ans x 1. 8%
2. 4%
23 10%
X< 4. Rog
Question ID : 75189710665
Option 1 ID : 75189742658
Option 2 ID : 75189742659
Option 3 ID : 75189742660
Option 4 ID : 75189742657
Status : Answered
Chosen Option : 1
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ar %ﬁmmﬁw%aﬁﬁaﬁ‘?

Ans X 1. 1956
X2 1948
3 1966
<4 1862
Question ID : 7518977280
Option 1 ID : 75189729120
Option 2 ID : 75189729119
Option 3 ID : 75189729118
Option 4 ID : 75189729117
Status : Answered
Chosen Option : 2
Q74 Eo T, TF TR AT R S T A T T F e F 5 F i ) wE aE w
Feaaw FTAT AT FHF HUR I IS AT 99T F ead ST
Salus
[Ea: Sales : Ty, 15! Qir : wEe =T, 20 Qtr : Z@dr T, 39 Qir : Zdr B 4 Qir ;s
e
e formfeatt & omor 7w s SR T SR R @R B2
Ans
v . gl R dadr
X2 ey i
X 3. Tge 3R gEdr
x4 gl AR =i
Question ID : 75189711656
Option 1 ID : 75189746621
Option 2 ID : 75189746623
Option 3 ID : 75189746622
Option 4 ID : 75189746624
Status : Answered
Chosen Option : 1
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Q.75

fafees #ist - P1, Q2, R3, S4, T5 3 UB & it & o el & v & 7 v @ 7 §, g
3 S FH F @ dFE a5 ) P1 R IR ¥ Y T W, 3T US F S A @ mam §) P
MMerFforFmatamdfiRRitTSrsmatad ST sFm = F T

Chosen Option :

Ans 1 ER
x 2. 3-
X3 gt
X4 Teh
Question ID : 75189711458
Option 1 ID : 75189745832
Option 2 ID : 75189745830
Option 3 ID : 75189745831
Option 4 ID : 75189745829
Status : Answered
Chosen Option : 1
Q.76 163 1w M Tufy A {Annual Status of Education Report} (ASER) 2021 (amfion) & 3@,
& Fpat # AT & TE w7 s E
Ans X1. 20.1%
<2 18.2%
<3 27.2%
v 4 24.4%
Question ID : 75189711098
Option 1 ID : 75189744390
Option 2 ID : 75189744389
Option 3 ID : 75189744392
Option 4 ID : 75189744391
Status : Answered
Chosen Option : 1
Q77 Which of the following falls under the Right to Constitutional Remedies?
Ans X 1.
Freedom of conscience and free profession, practice and propagation of religion
X 2. Equality of opportunity in public employment
o 3.
The right to move the Supreme Court by appropriate proceedings for the enforcement of the rights conferred by Part III
is puaranteed
X 4. Right to education
Question ID : 7518978927
Option 1 ID : 75189735707
Option 2 ID : 75189735706
Option 3 ID : 75189735708
Option 4 ID : 75189735705
Status : Answered

1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.78 @ w3 3AE A o ey | sl Il e e ) weet & & 9% Seert # 50 A ge BER
ol i 9F WS W a2 ¥ e e 2 8 #k a9 R Ru ow Gewst & @ #iF @, s =
T FUAT FT ITeT T 7

U

m=fr wfea, = £
Tl =T, T E
Tt Ty, Ty E
A

. & 93, FEAUNT g
Il m=fr =1, ofere §)

A Xt g ar fases | sk & Il 9o Far &
X2 Fad Trswmy || Irefe Far ¢
& 5 el TSRS | 9T LT &
X 4 fsey | 3T || ST 9ot T &

Question ID : 75189711683
Option 1 ID : 75189746732
Option 2 ID : 75189746730
Option 3 ID : 75189746729
Option 4 ID : 75189746731
Status : Answered
Chosen Option : 3

Q.79 o Sl waw - Ew, Fwe, FEn, fyE, Fa 6 e § @ sow e afafen Sehferafier
TEUT F 2004-2008 F I HeET-3700T I F THEF TRAT TG F A F FGF G & S g T
T F w=ge Fan s i e F 99 dew vE SSfanier o F w=as R, '@ SiEe, e
#r difery o A= & 2009 # w=AE R

oy frge o 2004 & wAGH o, A fREe 2006 F TS e
Ans X 1. SET
v 2 e

=

X3 Fad
X4 HrE

Question ID : 75189711456
Option 1 ID : 75189745823
Option 2 ID : 75189745822
Option 3 ID : 75189745824
Option 4 ID : 75189745821
Status : Answered
Chosen Option : 1
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=fgw? (weh AF A 00 B AE )
Ans X 1.3 km 3eaT @ R

X2 2 km 9 #r AR

X3 2 km 9fgg® Hr T
v+ 3 km 9& @ 3R

Q.80 afam fig A & =IO oF YT § AR EfROT B AT 6 km T 1 BT 77 AC {5 §, 4 km T §,
T &% Fgear & 3T 3 km =@ 1 B 97 @7 g3ar g A 7 km I9ar @1 9% 39 A @0 A4z ¢ 3
9 km TeR Bg B W et 31 Bg B ¥ Big A 7% T ¥ P 3@ e o7 Ak o Ram & seer

Question ID : 75189711837
Option 1 ID : 75189747345
Option 2 ID : 75189747346
Option 3 ID : 75189747348
Option 4 ID : 75189747347
Status : Answered
Chosen Option : 4
Q.81 7go3 :
=2 # s et geFEEE & # gREfag fifem
Ans x1.0.7990
X2.0.799
¥ 3.0.7900
X4.0.790
Question ID : 75189711393
Option 1 ID : 75189745572
Option 2 ID : 75189745571
Option 3 ID : 75189745570
Option 4 ID : 75189745569
Status : Answered
Chosen Option : 1
Q.82 ufy ar #=t 3y & ol i = @ e 13,500 ¥ 3 e A=t st @ e B S w qEw 24,000
T T AT WO (2 ) A9 P
Ans X1 2,200
~< 2 1,400
+ 3 1,000
#4500
Question ID : 75189710698
Option 11D : 75189742790
Option 2 ID : 75189742791
Option 3 ID : 75189742792
Option 4 ID : 75189742789
Status : Answered
Chosen Option : 3
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Q.83 suppose a current of 0.05 A is passing through a wire of resistance R when the voltage across the resistor is 10 V. What
current will pass through this wire when the voltage acroas it is 20V?

Ans > 1. 0.2 A
X2 001A
3 01A
X4 002A
Question ID : 75189711319
Option 1 ID : 75189745276
Option 2 ID : 75189745273
Option 3 ID : 75189745274
Option 4 ID : 75189745275
Status : Answered
Chosen Option : 4
Q.84 .
Tk F97 T IATT 32 m g SHH &6 (m2 H) AT Hifaw)
Ans x 1. 56
v 2 64
X3 32
<4128
Question ID : 75189710044
Option 1 ID : 75189740174
Option 2 ID : 75189740175
Option 3 ID : 75189740173
Option 4 ID : 75189740176
Status : Answered
Chosen Option : 2
Q.85 vt - d% Ries SEME (SHG-BLP) &R # U % & Aqed 9o ASHeESg Jaw 3, o
_ zEw & fEar e
Ans
v 1. @rars (NABARD)
¥ 2. f&=€r (SIDBI)
X 3. TiFsH (EXIM) &
X 4. TAATSEY (LIC)
Question ID : 7518979408
Option 1 ID : 75189737630
Option 2 ID : 75189737629
Option 3 ID : 75189737632
Option 4 ID : 75189737631
Status : Answered
Chosen Option : 2
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Q.86

T ET-3reeT ST 9T T g FH AT 45 §FE, 75 TS 3N 90 ¥FE F O seew § O

F {3 9:30:00 a.m. T TF WY TS &, O F R IW A g9 TF @Y FEaa?

Ans X1.9:39:20 a.m.
<2 9:39:10 a.m.
v 3 9:37:30 a.m.
<4 9:38:.00 a.m.
Question ID : 75189711188
Option 1 ID : 75189744749
Option 2 ID : 75189744752
Option 3 ID : 75189744751
Option 4 ID : 75189744750
Status : Answered
Chosen Option : 4
Q.87 frw oo FHERT & R & IEEs & TUE RER T8 &7 T TR Fgfe @ Seer?
9+7-(6+=3-4)x8=31
e X163k 7
X293 7
v g 3k 7
X4 43T 7
Question ID : 7518978085
Option 11D : 75189732339
Option 2 ID : 75189732337
Option 3 ID : 75189732338
Option 4 ID : 75189732340
Status : Answered
Chosen Option : 1

¥ o & @ Pl awr g #@R g #@ S 32
Ao FEaIfRET (Ureters)

X 2. gaFep1] (Nephrons)

X 5. FFATET (Urethra)

X 4 AT (Tubules)

Question ID : 75189710215
Option 1 ID : 75189740859
Option 2 ID : 75189740857
Option 3 ID : 75189740860

Option 4 ID :
Status :
Chosen Option :

75189740858
Answered
1
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Q90 The first menstrual flow begins at puberty and is termed as:
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CH,. CH;COOH, CHCl;, CH;CH,OH

Ans 1. CHy < CHCl; < CH3;COOH < CH3CH,0H
X 2. CH3CH,OH < CH3COOH < CHCl; < CH,
X 3. CH;COOH = CH3CH,OH < CHCl; < CH,4
v 4 CH, < CHCly < CH;CH,OH < CH;COOH

Q.97  Arrange the following organic compounds in the increasing order of their boiling point.
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